THAIRT - &t [ER/PER_ JdT FSAITIRS]
TECHNICIAN —B [BLACKSMITHY/FORGER & HEAT TREATER]
9e HEAT / POST NO.1420

1. dcd wieleT 9feham ... # far smar g/Hot forging process is carried out at

a) ITclelish argATeT/melting point temp

b) g=1-feheeereT ardaTE/recrystallization temp
C) ger:foheeele & faw=r arerer/below recrystallization temp

d) ger:foheeere & 1M draaT=/above recrystallization temp

2. 37 9SIY F ATH daC T FIeT & ureat & g F Ashifzd w0 s Aeprem Srar #
The material which is squeezed out between the faces of the dies is known as

a) ergHe/Slag
b) ¥g/Flash
C) Thel/Scale
d) Fefaa/Misrun

3. 31ded RSN JaTe & fou Aeafaf@d & wla @gr 87
Which one of the following is correct for cold working operation?

a) fAsead @eaar ured & ST Hhdl g/close tolerance can be achieved
b) g8 gR@set dr Iorar A g g/surface finish is poor
C) acd RSN &1 Jo= H A oo 3afed g/low force is required compared to hot

working

d) s &+ o sigi/none of these

4. Tod FAT & foIw SIS a9 o@raer...g/The working temperature for hot working is about

a) Tm & "AE/equal to Tm
b) 0.5Tm & 0.75 Tm @6/0.5 Tmt0 0.75 T

c) 0.1 Tm/0.1 T
d) Tm & Smer/higher than T

(S8t Tm 9erd & el argaATT &/where T is the melting temperature of material)
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5. 3cARUT SiHar & 3id & 397eyd Soe & 3faked ffear o9 arfda 7@ far o g &,
... PEATET B

Extra portion of the billet present at the end of the extrusion process, that cannot be
extruded, is called

a) ¥op¥/Flash

b) Fwnfad/Misrun

c) #3/Butt

d) srex/Gutter

6. fa@r [MIL2T2, ........... &1 yfafafeca #xar &/The dimension [ML2T] represents

a) ser/Force
b) grs/Pressure
) geica/Density

d) F=1/Energy

7. 3t gfshar & fov fAeafaf@a 7 &ia agr g7 g7
Which one of the following is not correct for annealing process?

a) Ig 3dRe gfadde HF FA Har g/lt relieves internal stresses

b) @& deaar & gurar g/It improves ductility
C) I& 9ard & &R F«rar g/lt hardens the material
d) erFsT #1edr # grar g/Quenching is in furnace

8. ... TdTele HIH HOR HAE & AT T &l/.... operation produces hardest surface.
a) areRor/Carburizing
b) ErATgsIeRtuT/Cyaniding
c) arsersstetor/Nitriding
d) gdsieeor/Halogenizing



9. Hdg FoRA & fov Arafaf@a & & wla v gfesar gt 82
Which one of the following is not a process for surface hardening?

a) srsror/Carburizing

b) Sarem waReA/Flame Hardening
c) eFqfiar/Tempering

d) arserssrentor/Nitriding

10. 3&9ra & AT carEt 3eqard () ... §/The Poisson’s ratio (p) for steel is

a) -1
b) 0.3
c) 0.6
d) 0.9

11. ¥ AR & drec MY Fr ... garT 3cariga fhar arar g/Llarge size bolt heads are produced
by
a) #2fstsr/Machining
b) wafa wrete/Upset forging
C) Fdsfei/Swaging
d) e wrstst/Hammer forging

12. ®IoleT gl H ... &1 ot g/Forging operation has the advantage of

a) 3eST gség gREsen d fashe Headr/Good surface finish and close tolerance
b) 3req @merda/Low cost

C) sga¥ Fif3s aqorers/Improved mechanical properties

d) wifas safafaal & wee fFar s @ew/Complex geometries can be forged



13. eeniolr gaig ffas awgsit & ... # g A Bl
Orthographic projection represents three dimensional objects in

a) T fa#r™/one dimension

b) gfa fa#a/two dimension

c) Rfa#g/three dimension

d) sud=Fa & @sfi/all of the above

14. fAefaf@a gfoar @ o 9rq aRT &1 3curest fhar S dehdr Bl
Long metal wires can be produced using the following process

a) 3caruT/extrusion

b) ssur/drawing

¢) wrest/forging

d) sud=ra @efyall of the above

15. g Fed 3@ F [ wifas aa ... gl
Lower critical temperature in iron carbon diagram is

a) 527°C
b) 727°C
c) 911°C
d) 1100°C

16. ............ W g A Mder X fe@am/Slowest cooling rate will be observed in
a) argy/air
b) sredy/furnace
C) Stef/water

d) oraur-srer/brine



17. farafaf@a # #lad te 3ifaamelt gfraor adier @ 872
Which one of the following is not a non-destructive testing method?

a) wraed gdetor/Ultrasonic testing
b) fafesofr o1 gdrator/Radiography testing
C) dshrg sur gdieor/Magnetic Particle testing

d) aa= Tdreror/Tensile testing

18. 99eT Seolel H (¥ HT IR ... g/In flat rolling, draft is defined by

a) RfAw g 3ifded Tyerar & & @ 3iaw/difference between initial and final thickness
b) wRfes T 3ifde Tyerar & & & Sig/sum of initial and final thickness
C) YRR a 3ifdH TYeIdr & o & 3ieqard/ratio of initial and final thickness

d) =1 & FIg & sigi/none of these

19. af¥ffa weRar &1 T %A §/The correct order of increasing hardness is

a) s=se < ATEwase < gdise/bainite < martensite < pearlite

b) wetse < ATé=ase < aa1se/pearlite < martensite < bainite

C) s=lise < Uaise < Aléwamse/bainite < pearlite < martensite
d) geise < 9a18e < Ac-mse/pearlite < bainite < martensite

20. goff E&etel &1 3YFT ........... H IHR ¢ o fow fohar Smar g/Rotary swaging is used to

a) e ss/round bars
b) fsere/billets
c) veie/plates

d) Fucr/dies



21, BIfSd 3camal 7 3ale @RE & ... gl ST gl
Internal cracks in forged products are called as

a) ¥ha fe/Scale pits
b) efra ere/Cold shut
¢) 3qRa #mr/Unfilled section

d) ga=/Flakes

22. FaAfaf@a FsATaRer AUt & O fFgd F15 8 YR & FSAT Ydig #ACIH T 39T Al
grei?
Which one of the following mode of heat transfer does not require any medium for heat
flow?

a) drelsi/Conduction
b) #agsi/Convection
c) fafeor/Radiation
d) 3ugsFa & @sii/All of the above

23. T |, ... F eI U gg WOT, @ 3F WOl H gRafdd & Jar gl
On cooling, a liquid phase results into two solid phases during

a) geeeiss HiAThar/eutectoid reaction

b) afeereiss fAfear/peritectoid reaction
c) IefFesw f@AfHaT/eutectic reaction

d) aRefFes 3fAfean/peritectic reaction

24. 3EATAl ST HORUNAAT &1 Ul ......% GART SAIMMAT AT Hehell gl
Hardenability of steels can be determined using

a) 19 wdreror/Knoop test
b) emrdf gdrator/Charpy test
C) deteT udretor/Tensile test

d) S 3T aHT Td1aTor/Jominy’s end quench test



25. 10 mm 9red & T Fer & faeor ... g/Diagonal of a square with side 10mm is

a) 20 mm
b) 10v2 mm
c) 10V3 mm
d) 100 mm

26. geastsT & fashuil & @ . g/Nos. of diagonals in heptagon are

a) 7
b) 14
c) 21
d) 4

27.10 e 3T & TH Jad F IW qgfuda:ﬁvaf\ﬁsrﬁmoaﬁrwmwww

3eHr el T@T &1 36h GaRT g & IS g ... ¢
A man travels, along an inclined plane which is 30° to the horizontal, to reach the top of a
building of height 10m. Distance travelled by him is

a) 10 m
b) 11.5 m
c) 17.3 m
d) 20 m

28. UrEhel A @ AT T { Y ... & g/Pascal’s law is basically related to

a) Zai1/Energy
b) era/Pressure

c) wegrdi/Entropy

d) &9e1/Vibration



29. 9HAAT AT ......... & &9 H AfAFfera forar S a@ar g/Toughness can be computed as

a) g fag do gfdee-fasia o & e &
area under stress-strain curve upto yield point
b) WA et Ng dF wfdae-fakfa aw & reher &l
area under stress-strain curve upto ultimate tensile point
) fasiar fog as gfdwer-fapfa o & e &
area under stress-strain curve upto fracture point
d) vy der a gfdde-fashfa am & e &
area under stress-strain curve upto elastic limit
30. fAetfaf@d & @lar-ar v arsdanRas Beor &1 gfdfafeeg sear 872
Which one of the following represents a Pythagorean triple?

a) 3,45
b) 4,59
c) 1,2,3
d) 2,34

31. weT sEqTd # g Fr gfard 99.5 81 T8 sTAT ... B
In carbon steel, the percentage of iron is 99.5. This steel is

a) geweiss/Eutectoid

b) g Feereigs/Hyper eutectoid
c) gur geeiss/Hypo eutectoid
d) Feferesh/Eutectic

32. 9y 98 & T 91y & T H Toldl digl &l ARSed: 38& ... & forw ganer fRar arar Bl
Cast iron is used as material for lathe bed particularly because of its

a) deter @raAzd/tensile strength

b) &&IRoT YfaRier/corrosion resistance

C) &usT 3mgfeor 3iferaror/vibration dampening characteristics
d) Sfrofer gfaRrer/wear resistance



33. 12 fAfadder & fAfga oarw, 1.5 fAfodier & B qur 6H & I3 d@ggar & & Afgs

S/ AT Sl IRG H ....... O grifar S|
A metric thread with nominal diameter of 12mm, pitch of 1.5mm and grade tolerance of
6H shall be represented in engineering drawing as:

a) 12-6H (1.5)

b) M12-6H (1.5)
¢) M12x1.5-6H
d) MT12-(1.5x6H)

34, Bioi yaTeT & gur & uard g & g7 e & fovw .. 3UEHT HT 3UAET fHAT ST
gl

In forging operation, the tool used to expand the size of a hole after punching is
a) ga/Punch

b) fgwe/Drift

c) ¥c gdtsr/Set hammer

d) per/Fuller

35. ts oMo T & fafadeaa A3BM7V &1 3ieR M & Tee ... 8 gl
A grinding wheel is specified as A36M7V. The letter M refers to

a) 3raedt/Abrasive
b) 3msa/Bond
c) 35/Grade

d) sx==/Structure

36. ACME 23 & fau 95 &IoT ... ¢/Thread angle for ACME thread is

a) 25°
b) 29°
c) 47°
d) 53°



37. 3R a, b AR ¢ v Fsger & ured § 3R 3R a2 + b2 > 2, dr 9§ WMot ... J
If a, b and c are the sides of a triangle and if a2 + b2 > c2 then the triangle is

a) @qIsh/supplementary
b) =g=i/acute

c) g#euT/right

d) xfEe/obtuse

38. 50 fAfaser =a @ & e Mo F 10 AfaHer & Moy stell FH gaAr=AT ST g1 9 Moy
el T TET gl

Spherical balls of 10mm diameter are to be made from a sphere of 50mm diameter.
Number of sphere balls obtained are

a) 5

b) 25
c) 125
d) 500

39. g¥d 9T g@rT 95 FAaT & GRIA, 9T H ... EaRT AR R e g
During thread cutting by hand tapping, thread is finished by
a) ¢ax ¢u/Taper tap

b) #egadr ¢u/Intermediate tap
C) delrar ¢u/Bottoming tap
d) s & +15 #fi/Any of the above
40. 3T fafast @ TR ... T & @AM g
Oxygen cylinder is usually painted with ..................... color
a) =rerr/Black
b) &®he/White
c) sren/Blue

d) erel/Red
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41. AT A dosal & AT gy aRer 3 wla-adr 87
Which among the following is a shielding gas used in welding?

a) 3itf=r/Argon

b) sF=rdi=T/Chlorine
C) we3ier/Fluorine
d) gsgise/Hydrogen

42. deset H A U1 AT S S dTed 56 @l ............. ¥ Ward W & e 3ifdamr @
39T fRar ST g

Fluxes are used in welding in order to protect molten metal and the surface to be joined
from

a) 3rErEoT/Oxidation
b) =rexor/Carburizing
c) fawgur/Distortion
d) #«/Dirt
43. B3 & GETs FI HHA I [TAT HI deled HT Tfhar &l ....... &gl ST Bl
The process of increasing the dimension of a bar at the expense of its length is called
a) grgar 3134/Drawing down
b) sarg/Spinning
C) gaTH=T (3raafeam)/Upsetting
d) getdarsa (difaer)/Peening

44. FT T YA ... & fow foRar srar g/Core is used for

a) "ush A AR Ifeerrsit 1 s=irel/forming internal cavities in the casting
b) arfera e swor/feeding molten metal

) AN Hedd Ul aai/providing machining allowance

d) swd=a @sfi/all the above

11



45, Ffael Hade dale ¥ 9T eIl ... gl
The tolerance that can be produced by investment casting method is

a) £0.05 mm
b) £0.2 mm
c) 0.5 mm

d) £1 mm

46. T Bell ... ganT J=Tg STt g/Cold chisels are made by
a) @&vur/Drawing
b) seersi/Rolling
c) f&gur/Piercing
d) wrewi/forging

47. T& AE-3RT 45 ... # &aeT HLar &/A hacksaw blade cuts in the

a) 3 r feen/forward direction
b) 9% & fgem/backward direction
c) 3 3R Oy, gt feemaii/both forward and backward directions

d) sor & feem/direction of force

48. .............. a¢ FSHITUR Yishar § STel dicelel PR arg & &1 Sl 81
Heat-treatment process in which cooling is carried out in still air is

a) =reRoT/carburizing

b) gamAET=geRor/normalizing
C) 3ferere/annealing

d) ¢Fadt/tempering

12



49. Tqe qv5 HT IRFsT & v AeAlaf@d wiole 3ueal & fhaerr garer fhar Sirdr 8?
Which one of the following forge tools is used for finishing flat surface?

a) T@sT/Swages
b) effia @e/Cold set
c) Rfbes(weiex)/Flatter

d) wer/Fuller

50. STHIoNT SR TCich HI Bloled P THAT fAeafolidd RaAer & fohaer g9 fohar Jrar g7
Which among the following tongs is used while forging hexagonal bar stock?

a) 33 er1/Gad tong

b) ¥¢se-fau wefes ciar/Straight-lip fluted tong
c) Rar efer/Ring tong
d) wele efer/Flat tong

51. 3EUTd & Gelcd ... g/Density of steel is

a) 3200 kg/m?®
b) 5400 kg/m?®
c) 7800 kg/m?®
d) 11200 kg/m®

52. Ush g&d ¢fUer dc & &°f & @&ar ... g/Number of taps in a hand tapping set is

a) 1
b) 2
c) 3
d) 4
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54. dIgR & gl H HRY Feel=ll & fow ... arsg FT gIeT fRar S gl

For heavy operations in blacksmith’s shop, the vice used is
a) [rgy arsa/Pipe vice

b) &M arga/Machine vice

c) s arga/Hand vice

d) e arsa/Leg Vice

55. T TH16 diec HT Bloid fhaT ST g1 dee MY (FATT & IR-UR) & AR ..... gl
A M16 bolt is to be forged. Size of bolt head (across flat) is

a) 16 mm
b) 20 mm
C) 24 mm
d) 30 mm

56. ®IeT de8eT H Th 3G ... g/An example of forge welding is

a) 3ms dess/Arc welding

b) avor ge==/Friction welding

C) T/ 9T arerr/Torch Brazing

d) selercieT feReuTdt dese1/Electron beam welding

57. Feleol Telige &I I ...... # grar arar g/Flange wrinkling is a defect found in

a) Ig=T &yur/Deep drawing
b) efra seer=/Cold rolling
c) «g=1/Blanking

d) &ars/Spinning

14



58. e FIoT g&id sk & a&d & ... H gl FT Fogar A FATCT g
In third angle projection method, the object is imagined to be in

a) uger dqeehvrsh/first quadrant

b) gfada aqsetvrer/second quadrant
C) ERT agsehIvrsh/third quadrant

d) =t =rqsshroren/fourth quadrant

59. v fadiss & &, Bfgd IR & 3R ... F HHER | R F
In a press work, the size of pierced hole is dependent on the size of

a) 9a/Punch
b) srs/Die
c) U= 3R 31§ @ 3iad/Average of punch and die

d) = 3k 3ire/Punch and clearance

60. &g gTHIT e @ T ... & g/Centre burst defect is related to

a) 3carur/Extrusion
b) ad=1/Turning
c) 313 wieiA/Die forging
d) dess1/Welding
61. aTgeT HYUT Yol H T HT JATE ... ¥ HROT 8T B
In deep drawing operation, metal flows due to
a) gacaar/Plasticity
b) gcareudr/Elasticity
c) & ®araA/Work hardening

d) wrsregar/Yielding

15



62. T BT & T H HH I 3R 3T a7 eIl FT Bloted deT ... gl
Forging method for reducing the diameter of a bar and making it longer is

a) seas wrorel/Roll forging
b) wa™ wiste/Upset forging
C) drdr wieted/Drop Forging
d) svur/Drawing

63. 3T FieT F SR AET-3RT (FFET) sl & H 8l A vl F AT =38 & & ... 810 ¢l
To prevent body of hacksaw blade from jamming during a saw cut, the
teeth of blade are

a) dc/Set

b) deor/sharpened
c) #rar/straightened
d) se/bend

64. AT def W U ©f (W) T 3H TG & T@N AT & o U Jrehrely faepoT aifcrsr
del & a9 A gl FW # 22F (AT &) ............ glam|

A Cube is placed on horizontal plane such that one of the space diagonal
is perpendicular to horizontal plane. The top view will be

a) 3rseefst/octagon
b) Fei/square
) weanrur/hexagon

d) 3mad/rectangle

65. acATT FAR e @1 gUT Fearell Tohel foig IUERT G@RT o131 v STt

... gl ST gl
Enlarging an existing circular hole with a rotating single point tool is called

a) "fdgur/boring

b) waw=/drilling

c) eatisr/reaming

d) 3aRe ade/internal turning

16



66. FFAfaf@a 7 FlaT T WieT AT ITEH g7
Which among the following is an indirect measuring tool?

a) 33X Hferax/Inside caliper
b) afe &Hferax/Vernier Caliper
C) 9de sIuTHTIH/Bevel protractor

d) 3raeR gewATR/Inside micometer

67.TF 35 ....... g/A die is

a) ST U3 FHa«r suEmv/external thread cutting tool
b) 3maRe 93 Fder 3uEy/internal thread cutting tool

C) @ I3 Faal 39EHRI/square thread cutting tool

d) =#A I3 &l 39EHRI/acme thread cutting tool

68. HId el Biolel # Fed ard & AT ... gl
In closed die forging, volume of raw material is

a) 3curg & 3fAsk/more than product
b) 3carg & &aA/less than product
C) 3cuie & FHEI/equal to the product

d) 3curg sr 3men/half of the product

69. 225 fAfasfier @ers 3R 50 Afoeer sag & tF SeaaeR e & 75 Afosdier =g & r
S & T BIfSTa fohar Sirar g1 adiss fasfa & &= gl

A dia 50mm cylindrical billet of length 225mm is forged to form dia 75mm. Value of
compressive strain is

a) 0.25
b) 0.4
c) 0.5
d) 0.55

70. Fe-C# ggaciss f@fswar ... 9 g g/Eutectoid reaction in Fe-C occurs at

17



b) 723°C
) 1147°C
d) 1493°C
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71.

72.

73.

74.

T 37 ... & foIw sgeFa famar sirar g/A drift is used for

a) &M a% @ wadus gem/removing drill from machine spindle
b) & & g U yauar germ/removing broken drill from the work
c) & & &ema/fixing chuck

d) d% w gdus H el HA/tightening the drill on spindle

T TodT ST AT GO Ured F &3 ... & GHAA g
GO side of a plug gauge will have the diameter equal to

a) FF & adias 3mHR/actual size of the job
b) ¥ & H 3mwR/basic size of the job
C) A & =g hR/minimum size of the job

d) & & HfwaA 3mER/maximum size of the job

Hlolel Tl H THRTT, ... & T a3l & Wsh & IR Fer dr faer g
In forging operation, scarfing is the method of preparing pieces of metal for

a) as/cutting
b) dess1/welding
c) dee/bending

d) ES«/swaging

Tsh ST ©F & Wloled & [T UIel e T 39ATT AT S §1 3R 3R Far 7500 e
¢ AR T SaRT ofeTmAT TN W g 15 e §, o T & 9GO eaRT aF T I gl

A drop hammer is used to forge a steel rod. If the energy transferred is 7500Jules and
the downward force exerted by the hammer is 15tons, the distance the hammer travelled
after striking is

a) 5mm

b) 50 mm

c) 100 mm

d) 150 mm

19



75.

76.

fAFAfai@d # @e8 #Aagd @i g/Which one of the following is strongest?

a) d«rse/bainite
b) A¢semse/martensite
c) dose/pearlite
d) wusEse/spherodite

T HUREAAT Feadel # qoe & 3R H 25.000(+0.020/+0.000) 3k &g &
3R & 25.000(-0.010/-0.030) fafafése forar aram &1 eeaasl &l HhdH AT .......

gl

In an interchangeable assembly, the shaft size is specified as 25.000(+0.020/+0.000)
and hole size is specified as 25.000(-0.010/-0.030). The maximum clearance in the
assembly is

a) 20 microns
b) 30 microns
¢) 10 microns

d) 50 microns

........ mgmﬁaﬁﬁwm%mmwémwagwmma:ﬁ@ﬁ
H A F Th|

............ is an extra space provided so that excess material can flow there and help in
closure of die.

a) ¥Tg/Flash
b) erex/Gutter

c) groe/Draft
d) JAHY/Chamfer

g & TIT Fgq YA T AT ... £/The value of curie temperature for iron is

a) 1043°C
b) 770K
c) 770°F
d) 1043K

20



80.

. qOT 3fellolet ............ AT 9X Fr St g/Full annealing is done at a temp

a) sifde argaeT & 30° - 50° C sfa/30° - 50° C below critical temperature
b) sifas argaT & 30° - 50° C 339x/30° - 50° C above critical temperature
C) shifde argATT 9/at critical temperature

d) =1 & FIg & sigi/none of these

NIT Tl & FollF ... W vereT I Frer B
In blanking operation, clearance is provided on
a) 9a/punch

b) srs/die

c) a& dra/work piece
d) 9= T 3138, al=i/both punch and die

*khkhkhhkhkhkkkkkk
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